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_ 100 ~2,5 8 42120 | 475 ; !
XR 8 Hiv 1 6,3 0,15 { 190 maximum i 20 3
6 AK4 |amer | 2 | 63 | 0125 200 —65 | 95| 3820 |53 |
5610 GE 3 |63 015 90 —15 17 4 |14 |35 ‘
5645 GE 4 | 63 | 015 100 -28 5 27 |20 |74 560
5703 amer | 5 | 63 | 02 120 -2 9 5 |25 |5 | 220
5703 WA!) | amer 5 6,3 0,2 | 250 maximum (Ug =150 V; f=500 MHz) 1 14 3
100 10 511175135 | 270 |
5975 Ray | 6 163 0175 |0 | g 125 | 4 |155|4 . 680
6152') Ray 6 6,3 0.2 250 maximum ro22 3,3
59771) ] amer | 2 | 63 | 015 100 —27 ' 10 | 45|16 |34 | 270%
1) vide *4, 2, b, ¢, d, e, f. (Uf= 63V % 5%)
- l o | Can | Coe e Equivalents
) ‘ pF pF pF
CK €08 CX Ray = 5703 6C1 FE CCCP= 5703
CK 5703 Ray = 5703 6C6B CCCP= 5703
6C6l 1,42 | 33| 35| *
5645 1,7 | 22| 3,0 *6 CK 5703WA?) Ray = 5703 WA| 5997 amer = 5977
6152 1:32 2.9 1:7_ *5 CK 5975 Ray = 5975 6149 amer = 5703
5703 | 12 | 26| 07| *5 CK 61521) Ray = 6152
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